Project Name: NE 99th Street (NE 94th Avenue - Vicinity of NE 117th Avenue (SR 503))

Project Name: NE 99th Street (NE 94th Avenue - Vicinity of NE 117th Avenue (SR 503)) Project Number: CRP 350722 Bid Opening Date: November 2, 2021 BID ITEM SPEC.					ENGINEERS ESTIMATE		Nutter Corporation 7211 NE 43rd Ave STE A Vancouver, WA 98661-1377 (360) 573-2000		Rotschy, Inc. 7408 NE 113th Cir Vancouver, WA 98662-2351 (360) 334-3100		Active Construction, Inc. 5110 River Rd. E Tacoma, WA 98443-2638 (253) 248-1091		Tapani, Inc. 1904 SE 6th PI Battle Ground, WA 98604-8300 (360) 687-1148		Goodfellow 7515 NE Ambass Portland, OR (503) 26	Bros., LLC ador Pl. STE E 97220-1379
NO.	SECTION	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
SCHEDULE	A - ROAD	IMPROVEMENTS														
1	1-09.7	MOBILIZATION	L.S.	1	\$1,287,100.00	\$1,287,100.00	\$1,311,000.00	\$1,311,000.00	\$1,158,585.00	\$1,158,585.00	\$1,925,848.67	\$1,925,848.67	\$2,000,000.00	\$2,000,000.00	\$1,975,000.00	\$1,975,000.00
2	1-07.11	TRAINING	HOUR	800	\$30.00	\$24,000.00	\$33.00	\$26,400.00	\$20.00	\$16,000.00	\$14.00	\$11,200.00	\$20.00	\$16,000.00	\$20.00	\$16,000.00
3	1-07.15	SPCC PLAN	L.S.	1	\$4,000.00	\$4,000.00	\$1,000.00	\$1,000.00	\$2,500.00	\$2,500.00	\$100.00	\$100.00	\$1,000.00	\$1,000.00	\$5,000.00	\$5,000.00
4	1-08.3	TYPE B PROGRESS SCHEDULE(Minimum Bid of \$7,500.00 Lump Sum)	L.S.	1	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00	\$7,500.00
5	1-09.3	FUEL COST ADJUSTMENT	CALC	1	\$45,700.00	\$45,700.00	\$45,700.00	\$45,700.00	\$45,700.00	\$45,700.00	\$45,700.00	\$45,700.00	\$45,700.00	\$45,700.00	\$45,700.00	\$45,700.00
6	1-10	PROJECT TEMPORARY TRAFFIC CONTROL	L.S.	1	\$235,000.00	\$235,000.00	\$152,000.00	\$152,000.00	\$200,000.00	\$200,000.00	\$150,000.00	\$150,000.00	\$80,000.00	\$80,000.00	\$300,000.00	\$300,000.00
7	1-10	FLAGGERS (Minimum Bid of \$40.00 per Hour)	HOUR	8640	\$62.00	\$535,680.00	\$70.00	\$604,800.00	\$70.00	\$604,800.00	\$60.00	\$518,400.00	\$40.00	\$345,600.00	\$59.00	\$509,760.00
8	1-10	CONSTRUCTION SIGNS CLASS A	S.F.	730	\$25.00	\$18,250.00	\$35.00	\$25,550.00	\$38.00	\$27,740.00	\$27.00	\$19,710.00	\$25.00	\$18,250.00	\$30.00	\$21,900.00
9	1-10	PORTABLE CHANGEABLE MESSAGE SIGN	HOUR	2020	\$8.00	\$16,160.00	\$5.50	\$11,110.00	\$4.00	\$8,080.00	\$4.00	\$8,080.00	\$5.00	\$10,100.00	\$5.00	\$10,100.00
10	1-10	PEDESTRIAN TRAFFIC CONTROL	L.S.	1	\$30,000.00	\$30,000.00	\$21,000.00	\$21,000.00	\$5,000.00	\$5,000.00	\$6,000.00	\$6,000.00	\$10,000.00	\$10,000.00	\$30,000.00	\$30,000.00
11	1-10	TEMPORARY SPEED BUMP	EACH	13	\$1,000.00	\$13,000.00	\$1,100.00	\$14,300.00	\$900.00	\$11,700.00	\$1,100.00	\$14,300.00	\$1,200.00	\$15,600.00	\$1,000.00	\$13,000.00
12	2-01	CLEARING AND GRUBBING	ACRE	12.6	\$15,000.00	\$189,000.00	\$8,000.00	\$100,800.00	\$5,000.00	\$63,000.00	\$12,000.00	\$151,200.00	\$19,000.00	\$239,400.00	\$20,000.00	\$252,000.00
13	2-01	ROADSIDE CLEANUP	EST.	1	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00
14	2-02	REMOVAL OF STRUCTURES AND OBSTRUCTIONS	L.S.	1	\$160,000.00	\$160,000.00	\$151,000.52	\$151,000.52	\$100,000.00	\$100,000.00	\$250,000.00	\$250,000.00	\$200,000.00	\$200,000.00	\$350,000.00	\$350,000.00
15	2-02	CONTINGENCY PLAN- TRASH AND CONTAMINATION TESTING, HANDLING AND REMOVAL	EST.	1	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00
16	2-02	DECOMMISSION MONITORING WELL	EACH	2	\$1,700.00	\$3,400.00	\$7,000.00	\$14,000.00	\$850.00	\$1,700.00	\$1,700.00	\$3,400.00	\$2,000.00	\$4,000.00	\$6,000.00	\$12,000.00
17	2-03	ROADWAY EXCAVATION INCL. HAUL	C.Y.	40860	\$21.00	\$858,060.00	\$7.50	\$306,450.00	\$10.00	\$408,600.00	\$28.00	\$1,144,080.00	\$18.00	\$735,480.00	\$31.00	\$1,266,660.00
18	2-03	SELECT BORROW INCL. HAUL	TON	122700	\$12.00	\$1,472,400.00	\$16.00	\$1,963,200.00	\$21.00	\$2,576,700.00	\$8.00	\$981,600.00	\$18.00	\$2,208,600.00	\$20.00	\$2,454,000.00
19	2-03	STORMWATER FACILITY EXCAVATION INCL. HAUL	C.Y.	9570	\$16.00	\$153,120.00	\$10.00	\$95,700.00	\$21.00	\$200,970.00	\$23.00	\$220,110.00	\$20.00	\$191,400.00	\$20.00	\$191,400.00
20	2-03	EXISTING POND EXCAVATION INCL. HAUL	C.Y.	6,000	\$17.00	\$102,000.00	\$6.50	\$39,000.00	\$4.25	\$25,500.00	\$5.00	\$30,000.00	\$13.00	\$78,000.00	\$10.00	\$60,000.00
21	2-03	SETTLEMENT MONITORING	L.S.	1	\$2,500.00	\$2,500.00	\$6,000.00	\$6,000.00	\$8,000.00	\$8,000.00	\$2,500.00	\$2,500.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
22	2-09	SHORING OR EXTRA EXCAVATION CL. A (Structural Earth Walls)	L.S.	1	\$35,475.00	\$35,475.00	\$12,500.00	\$12,500.00	\$8,500.00	\$8,500.00	\$25,000.00	\$25,000.00	\$65,000.00	\$65,000.00	\$50,000.00	\$50,000.00
23	2-09 2-12	SHORING OR EXTRA EXCAVATION CL. A (Infiltration Galleries) CONSTRUCTION GEOTEXTILE FOR SEPARATION	L.S. S.Y.	1730	\$310,000.00 \$3.00	\$310,000.00 \$5,190.00	\$81,500.00 \$1.00	\$81,500.00 \$1,730.00	\$280,000.00 \$2.25	\$280,000.00 \$3,892.50	\$45,000.00 \$3.00	\$45,000.00 \$5,190.00	\$410,000.00 \$2.50	\$410,000.00 \$4,325.00	\$850,000.00 \$2.00	\$850,000.00 \$3,460.00
25	2.00	IMPERVIOUS LINER (Landfill)	S.Y.	10242	\$3.00 \$15.00	\$153,630.00	\$1.00	\$1,730.00	\$2.25 \$12.45	\$3,692.30	\$3.00 \$16.50	\$168,993.00	\$2.50	\$122,904.00	\$12.00	\$122,904.00
26	2.00	LINER CUTTING (Pond Bottom)	L.F.	310	\$10.00	\$3,100.00	\$16.00	\$4,960.00	\$3.00	\$930.00	\$7.00	\$2,170.00	\$3.00	\$930.00	\$5.00	\$1,550.00
27	2.00	TURF REINFORCEMENT MAT	9.7	2070	\$18.00	\$37,260.00	\$17.00		\$7.00	\$14,490.00	\$10.00	\$20,700.00	\$12.00	\$24,840.00	\$12.00	
28	4-04	CRUSHED SURFACING BASE COURSE	C.Y.	13630	\$46.00	\$626,980.00	\$53.00	\$722,390.00	\$55.00	\$749,650.00	\$58.00	\$790,540.00	\$55.00	\$749,650.00	\$60.00	\$817,800.00
29	4-04	PERMEABLE BALLAST	C.Y.	200	\$60.00	\$12,000.00	\$57.00	\$11,400.00	\$68.00	\$13,600.00	\$78.00	\$15,600.00	\$70.00	\$14,000.00	\$85.00	\$17,000.00
30	5-04	HMA CL. 3/8 IN. PG 58H-22	TON	4890	\$95.00	\$464,550.00	\$108.00	\$528,120.00	\$110.00	\$537,900.00	\$125.00	\$611,250.00	\$120.00	\$586,800.00	\$110.00	
31	5-04	HMA CL. 1/2 IN. PG 58H-22	TON	4890	\$95.00	\$464,550.00	\$95.00	\$464,550.00	\$99.00	\$484,110.00	\$110.00	\$537,900.00	\$100.00	\$489,000.00	\$95.00	\$464,550.00
32	5-04	COMMERCIAL HMA	TON	1170	\$87.00	\$101,790.00	\$94.00		\$129.00	\$150,930.00	\$107.00	\$125,190.00	\$100.00	\$117,000.00	\$96.00	
33	5-04	PLANING BITUMINOUS PAVEMENT	S.Y.	3880	\$5.00	\$19,400.00	\$6.00	\$23,280.00	\$3.75	\$14,550.00	\$8.50	\$32,980.00	\$10.00	\$38,800.00	\$10.00	\$38,800.00
34	5-04	ASPHALT COST PRICE ADJUSTMENT	CALC	1	\$95,700.00	\$95,700.00	\$95,700.00	\$95,700.00	\$95,700.00	\$95,700.00	\$95,700.00	\$95,700.00	\$95,700.00	\$95,700.00	\$95,700.00	\$95,700.00
35	5-05	TEXTURED AND PIGMENTED CEMENT CONCRETE PAVEMENT	S.Y.	220	\$200.00	\$44,000.00	\$150.00	\$33,000.00	\$260.00	\$57,200.00	\$315.00	\$69,300.00	\$260.00	\$57,200.00	\$271.00	\$59,620.00
36	5-05	PIGMENTED CEMENT CONCRETE PAVEMENT	S.Y.	140	\$180.00	\$25,200.00	\$161.00	\$22,540.00	\$170.00	\$23,800.00	\$257.00	\$35,980.00	\$190.00	\$26,600.00	\$217.00	\$30,380.00
37	5-05	CEMENT CONC. PAVEMENT (Truck Apron)	C.Y.	250	\$700.00	\$175,000.00	\$850.00	\$212,500.00	\$470.00	\$117,500.00	\$200.00	\$50,000.00	\$575.00	\$143,750.00	\$146.00	\$36,500.00
38	6-10	CAST-IN-PLACE CONC. BARRIER (WALL 9)	L.F.	20	\$400.00	\$8,000.00	\$460.00	\$9,200.00	\$450.00	\$9,000.00	\$1,400.00	\$28,000.00	\$500.00	\$10,000.00	\$400.00	\$8,000.00
39	6-12	NOISE BARRIER WALL TYPE - PRECAST POST AND PANEL	S.F.	2670	\$70.00	\$186,900.00	\$82.00	\$218,940.00	\$98.00	\$261,660.00	\$103.00	\$275,010.00	\$90.00	\$240,300.00	\$80.00	\$213,600.00
40	6-12	NOISE BARRIER WALL TYPE - MASONRY ON SPREAD FOOTING	S.F.	5740	\$45.00	\$258,300.00	\$43.00		\$47.00	\$269,780.00	\$45.00	\$258,300.00	\$50.00	\$287,000.00	\$45.00	
		I .	1	·												

ENGINEER'S ESTIMATE

BIDDER #1

BIDDER #2

BIDDER #3

BIDDER #5

BIDDER #4

Project Name: NE 99th Street (NE 94th Avenue - Vicinity of NE 117th Avenue (SR 503)) ENGINEER'S ESTIMATE BIDDER #1 BIDDER #2 BIDDER #3 BIDDER #4 BIDDER #5 Project Number: CRP 350722 **Nutter Corporation** Rotschy, Inc. Active Construction, Inc. Tapani, Inc. Goodfellow Bros., LLC Bid Opening Date: November 2, 2021 7211 NE 43rd Ave STE A 7408 NE 113th Cir 5110 River Rd. E 1904 SE 6th PI 7515 NE Ambassador Pl. STE E Vancouver, WA 98661-1377 Vancouver, WA 98662-2351 Tacoma, WA 98443-2638 Battle Ground, WA 98604-8300 Portland, OR 97220-1379

							Vancouver, WA 98661-1377 (360) 573-2000		l l		Tacoma, WA 98443-2638 (253) 248-1091		Battle Ground, WA 98604-8300 (360) 687-1148		Portland, OR 97220-1379 (503) 265-4114	
BID ITEM NO.	SPEC. SECTION	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
41	6-12	REMOVING NOISE BARRIER WALL SHAFT OBSTRUCTIONS	EST.	1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
42	6-13	STRUCTURAL EARTH WALL	S.F.	4382	\$55.00	\$241,010.00	\$46.00	\$201,572.00	\$41.00	\$179,662.00	\$52.00	\$227,864.00	\$50.00	\$219,100.00	\$60.00	\$262,920.00
43	6-16	PREFABRICATED DRAINAGE MAT	S.Y.	270	\$15.00	\$4,050.00	\$12.00	\$3,240.00	\$28.00	\$7,560.00	\$22.00	\$5,940.00	\$35.00	\$9,450.00	\$95.00	\$25,650.00
44	6-16	FURNISHING SOLDIER PILE - W16x50	L.F.	400	\$75.00	\$30,000.00	\$55.00	\$22,000.00	\$64.00	\$25,600.00	\$82.00	\$32,800.00	\$40.00	\$16,000.00	\$54.00	\$21,600.00
45	6-16	FURNISHING SOLDIER PILE - W24x94	L.F.	1035	\$90.00	\$93,150.00	\$103.00	\$106,605.00	\$125.00	\$129,375.00	\$158.00	\$163,530.00	\$90.00	\$93,150.00	\$101.00	\$104,535.00
46	6-16	SHAFT - 24 IN. DIAMETER	L.F.	445	\$140.00	\$62,300.00	\$130.00	\$57,850.00	\$120.00	\$53,400.00	\$83.00	\$36,935.00	\$190.00	\$84,550.00	\$124.00	\$55,180.00
47	6-16	SHAFT - 36 IN. DIAMETER	L.F.	1090	\$150.00	\$163,500.00	\$101.00	\$110,090.00	\$124.00	\$135,160.00	\$93.00	\$101,370.00	\$150.00	\$163,500.00	\$107.00	\$116,630.00
48	6-16	LAGGING	S.F.	5150	\$18.00	\$92,700.00	\$22.00	\$113,300.00	\$12.50	\$64,375.00	\$17.50	\$90,125.00	\$13.00	\$66,950.00	\$12.50	\$64,375.00
49	6-16	CONCRETE FASCIA PANEL	S.F.	5790	\$30.00	\$173,700.00	\$73.00	\$422,670.00	\$71.00	\$411,090.00	\$100.00	\$579,000.00	\$63.00	\$364,770.00	\$73.00	\$422,670.00
50	6-16	REMOVING SOLDIER PILE SHAFT OBSTRUCTIONS	EST.	1	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00
51	7-01	INFILTRATION FACILTY A	L.S.	1	\$175,000.00	\$175,000.00	\$100,000.00	\$100,000.00	\$165,000.00	\$165,000.00	\$95,000.00	\$95,000.00	\$140,000.00	\$140,000.00	\$220,000.00	\$220,000.00
52	7-01	INFILTRATION FACILTY B	L.S.	1	\$195,000.00	\$195,000.00	\$109,000.00	\$109,000.00	\$131,000.00	\$131,000.00	\$95,000.00	\$95,000.00	\$160,000.00	\$160,000.00	\$280,000.00	\$280,000.00
53	7-01	INFILTRATION FACILTY C	L.S.	1	\$510,000.00	\$510,000.00	\$193,000.00	\$193,000.00	\$511,000.00	\$511,000.00	\$250,000.00	\$250,000.00	\$400,000.00	\$400,000.00	\$650,000.00	\$650,000.00
54	7-01	INFILTRATION FACILTY D	L.S.	1	\$125,000.00	\$125,000.00	\$103,000.00	\$103,000.00	\$58,000.00	\$58,000.00	\$43,000.00	\$43,000.00	\$70,000.00	\$70,000.00	\$185,000.00	\$185,000.00
55	7-04	STORM SEWER PIPE 8 IN. DIAM.	L.F.	73	\$55.00	\$4,015.00	\$65.00	\$4,745.00	\$46.00	\$3,358.00	\$42.00	\$3,066.00	\$65.00	\$4,745.00	\$107.00	\$7,811.00
56	7-04	STORM SEWER PIPE 10 IN. DIAM.	L.F.	906	\$60.00	\$54,360.00	\$48.00	\$43,488.00	\$81.00	\$73,386.00	\$60.00	\$54,360.00	\$90.00	\$81,540.00	\$146.00	\$132,276.00
57	7-04	STORM SEWER PIPE 12 IN. DIAM.	L.F.	3631	\$65.00	\$236,015.00	\$54.00	\$196,074.00	\$95.00	\$344,945.00	\$105.00	\$381,255.00	\$70.00	\$254,170.00	\$115.00	\$417,565.00
58	7-04	STORM SEWER PIPE 18 IN. DIAM.	L.F.	1355	\$85.00	\$115,175.00	\$78.00	\$105,690.00	\$96.00	\$130,080.00	\$140.00	\$189,700.00	\$80.00	\$108,400.00	\$140.00	\$189,700.00
59	7-04	STORM SEWER PIPE 24 IN. DIAM.	L.F.	2426	\$95.00	\$230,470.00	\$128.00	\$310,528.00	\$122.00	\$295,972.00	\$200.00	\$485,200.00	\$135.00	\$327,510.00	\$170.00	\$412,420.00
60	7-04	DUCTILE IRON STORM SEWER PIPE 10 IN. DIAM.	L.F.	313	\$95.00	\$29,735.00	\$83.00	\$25,979.00	\$119.00	\$37,247.00	\$85.00	\$26,605.00	\$95.00	\$29,735.00	\$160.00	\$50,080.00
61	7-04	DUCTILE IRON STORM SEWER PIPE 12 IN. DIAM.	L.F.	810	\$110.00	\$89,100.00	\$93.00	\$75,330.00	\$118.00	\$95,580.00	\$129.00	\$104,490.00	\$110.00	\$89,100.00	\$135.00	\$109,350.00
62	7-04	DUCTILE IRON STORM SEWER PIPE 18 IN. DIAM.	L.F.	31	\$125.00	\$3,875.00	\$186.00	\$5,766.00	\$185.00	\$5,735.00	\$220.00	\$6,820.00	\$185.00	\$5,735.00	\$255.00	\$7,905.00
63	7-04	DUCTILE IRON STORM SEWER PIPE 24 IN. DIAM.	L.F.	41	\$200.00	\$8,200.00	\$292.00	\$11,972.00	\$246.00	\$10,086.00	\$254.00	\$10,414.00	\$230.00	\$9,430.00	\$326.00	\$13,366.00
64	7-05	STORM SEWER CLEANOUT	EACH	1	\$1,000.00	\$1,000.00	\$700.00	\$700.00	\$550.00	\$550.00	\$825.00	\$825.00	\$1,200.00	\$1,200.00	\$1,100.00	\$1,100.00
65	7.00	STORM FORCE MAIN	L.S.	1	\$30,000.00	\$30,000.00	\$16,500.00	\$16,500.00	\$20,000.00	\$20,000.00	\$13,500.00	\$13,500.00	\$35,000.00	\$35,000.00	\$20,000.00	\$20,000.00
66	7-05	MANHOLE 48 IN. DIAM. TYPE 1	EACH	25	\$4,000.00	\$100,000.00	\$3,700.00	\$92,500.00	\$3,650.00	\$91,250.00	\$3,500.00	\$87,500.00	\$5,000.00	\$125,000.00	\$4,900.00	\$122,500.00
67	7-05	MANHOLE 60 IN. DIAM. TYPE 1	EACH	1	\$5,500.00	\$5,500.00	\$4,800.00	\$4,800.00	\$4,920.00	\$4,920.00	\$5,700.00	\$5,700.00	\$7,000.00	\$7,000.00	\$6,900.00	\$6,900.00
68	7-05	MANHOLE 48 IN. DIAM. TYPE 3	EACH	10	\$4,500.00	\$45,000.00	\$3,700.00	\$37,000.00	\$4,760.00	\$47,600.00	\$3,500.00	\$35,000.00	\$5,000.00	\$50,000.00	\$4,900.00	\$49,000.00
69	7-05	MANHOLE 60 IN. DIAM. TYPE 3	EACH	8	\$6,000.00	\$48,000.00	\$8,600.00	\$68,800.00	\$6,530.00	\$52,240.00	\$5,700.00	\$45,600.00	\$7,000.00	\$56,000.00	\$6,900.00	\$55,200.00
70	7-05	MANHOLE 72 IN. DIAM. TYPE 3	EACH	1	\$11,000.00	\$11,000.00	\$9,000.00	\$9,000.00	\$8,350.00	\$8,350.00	\$12,000.00	\$12,000.00	\$13,500.00	\$13,500.00	\$10,700.00	\$10,700.00
71	7-05	MANHOLE 96 IN. DIAM. TYPE 3	EACH	3	\$15,000.00	\$45,000.00	\$18,000.00	\$54,000.00	\$10,500.00	\$31,500.00	\$27,000.00	\$81,000.00	\$28,000.00	\$84,000.00	\$21,300.00	\$63,900.00
72	7-05	CATCH BASIN TYPE 1	EACH	1	\$2,000.00	\$2,000.00	\$1,900.00	\$1,900.00	\$2,530.00	\$2,530.00	\$2,500.00	\$2,500.00	\$3,000.00	\$3,000.00	\$3,000.00	
73	7-05	COMBINATION INLET (WSDOT)	EACH	60	\$2,000.00	\$120,000.00	\$2,400.00	\$144,000.00	\$2,325.00	\$139,500.00	\$2,500.00	\$150,000.00	\$2,800.00	\$168,000.00	\$2,500.00	\$150,000.00
74	7-05	ADJUST INLET	EACH	2	\$750.00	\$1,500.00	\$350.00	\$700.00	\$320.00	\$640.00	\$570.00	\$1,140.00	\$425.00	\$850.00	\$600.00	\$1,200.00
75	7-05	ROLLED CURB DRAIN	EACH	12	\$1,800.00	\$21,600.00	\$2,100.00	\$25,200.00	\$3,050.00	\$36,600.00	\$2,500.00	\$30,000.00	\$3,000.00	\$36,000.00	\$1,100.00	
76	7-05	CONNECTION TO EXISTING DRAINAGE STRUCTURE	EACH	8	\$500.00	\$4,000.00	\$1,400.00	\$11,200.00	\$525.00	\$4,200.00	\$1,125.00	\$9,000.00	\$2,100.00	\$16,800.00	\$2,800.00	
77	7-05	COMBINATION INLET (WSDOT) TYPE 2 BASE	EACH	12	\$3,000.00	\$36,000.00	\$2,500.00	\$30,000.00	\$3,650.00	\$43,800.00	\$2,800.00	\$33,600.00	\$5,500.00	\$66,000.00	\$5,300.00	
78	7-05	ROLLED CURB DRAIN (Type 2 base)	EACH	4	\$2,800.00	\$11,200.00	\$2,000.00	\$8,000.00	\$5,110.00	\$20,440.00	\$3,000.00	\$12,000.00	\$5,700.00	\$22,800.00	\$5,300.00	\$21,200.00
79	7-05	STORMFILTER VAULT (3 cartridges)	EACH	1	\$40,000.00	\$40,000.00	\$48,000.00	\$48,000.00	\$51,000.00	\$51,000.00	\$47,000.00	\$47,000.00	\$57,000.00	\$57,000.00	\$50,000.00	\$50,000.00
80	7-05	STORMFILTER VAULT (15 cartridges)	EACH	1	\$80,000.00	\$80,000.00	\$96,000.00	\$96,000.00	\$103,000.00	\$103,000.00	\$103,000.00	\$103,000.00	\$100,000.00	\$100,000.00	\$92,000.00	
81	7-05	CONCRETE COMBINATION CURB INLET (INSTALL ON EXIST DRYWELL)	EACH	1	\$3,000.00	\$3,000.00	\$2,200.00	\$2,200.00	\$2,700.00	\$2,700.00	\$2,700.00	\$2,700.00	\$2,600.00	\$2,600.00	\$1,900.00	
82	7-05	ADJUST MANHOLE METHOD A (Stormwater)	EACH	11	\$1,000.00	\$11,000.00	\$350.00	\$3,850.00	\$500.00	\$5,500.00	\$950.00	\$10,450.00	\$800.00	\$8,800.00	\$1,100.00	\$12,100.00

Project Name: NE 99th Street (NE 94th Avenue - Vicinity of NE 117th Avenue (SR 503))

Project Name: NE 99th Street (NE 94th Avenue - Vicinity of NE 117th Avenue (SR 503)) Project Number: CRP 350722 Bid Opening Date: November 2, 2021					ENGINEERSESTIMATE		Nutter Corporation 7211 NE 43rd Ave STE A Vancouver, WA 98661-1377 (360) 573-2000		Rotschy, Inc. 7408 NE 113th Cir Vancouver, WA 98662-2351 (360) 334-3100		Active Construction, Inc. 5110 River Rd. E Tacoma, WA 98443-2638 (253) 248-1091		Tapani, Inc. 1904 SE 6th PI Battle Ground, WA 98604-8300 (360) 687-1148		Goodfellow Bros., LLC 7515 NE Ambassador Pl. STE Portland, OR 97220-1379 (503) 265-4114	
BID ITEM NO.	SPEC. SECTION	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
83	7-05	AREA INLET 24 IN. DIAM.	EACH	5	\$1,200.00	\$6,000.00	\$800.00	\$4,000.00	\$1,000.00	\$5,000.00	\$850.00	\$4,250.00	\$1,600.00	\$8,000.00	\$2,300.00	\$11,500.00
84	7-08	TRENCH SAFETY SYSTEM (Minimum Bid of \$3.00/L.F.)	L.F.	9410	\$3.00	\$28,230.00	\$3.00	\$28,230.00	\$3.00	\$28,230.00	\$3.00	\$28,230.00	\$3.00	\$28,230.00	\$3.00	\$28,230.00
85	7-08	PLUGGING EXISTING PIPE	EACH	9	\$200.00	\$1,800.00	\$300.00	\$2,700.00	\$350.00	\$3,150.00	\$200.00	\$1,800.00	\$300.00	\$2,700.00	\$500.00	\$4,500.00
86	7.00	BIORETENTION SOIL MIXTURE	C.Y.	5200	\$55.00	\$286,000.00	\$61.00	\$317,200.00	\$53.00	\$275,600.00	\$63.00	\$327,600.00	\$50.00	\$260,000.00	\$70.00	\$364,000.00
87	8-01	ESC LEAD	DAY	49	\$75.00	\$3,675.00	\$80.00	\$3,920.00	\$200.00	\$9,800.00	\$2.00	\$98.00	\$100.00	\$4,900.00	\$560.00	\$27,440.00
88	8-01	STABILIZED CONSTRUCTION ENTRANCE	S.Y.	760	\$25.00	\$19,000.00	\$23.00	\$17,480.00	\$32.00	\$24,320.00	\$18.00	\$13,680.00	\$30.00	\$22,800.00	\$45.00	\$34,200.00
89	8-01	TIRE WASH	EACH	2	\$10,000.00	\$20,000.00	\$7,000.00	\$14,000.00	\$8,000.00	\$16,000.00	\$25,000.00	\$50,000.00	\$10,000.00	\$20,000.00	\$39,000.00	\$78,000.00
90	8-01	INLET PROTECTION	EACH	169	\$75.00	\$12,675.00	\$80.00	\$13,520.00	\$75.00	\$12,675.00	\$75.00	\$12,675.00	\$45.00	\$7,605.00	\$70.00	\$11,830.00
91	8-01	SILT FENCE	L.F.	5410	\$3.00	\$16,230.00	\$3.00	\$16,230.00	\$3.50	\$18,935.00	\$5.00	\$27,050.00	\$5.00	\$27,050.00	\$4.50	\$24,345.00
92	8-01	EROSION CONTROL AND WATER POLLUTION PREVENTION	L.S.	1	\$10,000.00	\$10,000.00	\$115,000.00	\$115,000.00	\$42,000.00	\$42,000.00	\$75,000.00	\$75,000.00	\$180,000.00	\$180,000.00	\$140,000.00	\$140,000.00
93	8-01	SEEDING AND MULCHING (SEED MIX B)	ACRE	0.8	\$5,420.00	\$4,336.00	\$10,000.00	\$8,000.00	\$9,400.00	\$7,520.00	\$5,000.00	\$4,000.00	\$9,000.00	\$7,200.00	\$10,000.00	\$8,000.00
94	8-01	SEEDING AND MULCHING (SEED MIX C)	ACRE	9	\$6,504.00	\$58,536.00	\$7,300.00	\$65,700.00	\$11,000.00	\$99,000.00	\$4,000.00	\$36,000.00	\$10,500.00	\$94,500.00	\$7,000.00	\$63,000.00
95	8-01	HIGH VISIBILITY FENCE	L.F.	790	\$4.00	\$3,160.00	\$3.00	\$2,370.00	\$4.50	\$3,555.00	\$3.00	\$2,370.00	\$7.00	\$5,530.00	\$4.50	\$3,555.00
96	8-01	EROSION CONTROL BLANKET	S.Y.	4900	\$4.00	\$19,600.00	\$3.30	\$16,170.00	\$3.50	\$17,150.00	\$3.00	\$14,700.00	\$5.00	\$24,500.00	\$10.00	\$49,000.00
97	8-01	WATER FOR PLANT ESTABLISHMENT (Minimum Bid of \$30/MGAL)	MGAL	4500	\$32.50	\$146,250.00	\$30.00	\$135,000.00	\$44.00	\$198,000.00	\$30.00	\$135,000.00	\$30.00	\$135,000.00	\$30.00	\$135,000.00
98	8-02	TOPSOIL TYPE A	C.Y.	7300	\$43.40	\$316,820.00	\$61.00	\$445,300.00	\$44.00	\$321,200.00	\$53.00	\$386,900.00	\$42.00	\$306,600.00	\$60.00	\$438,000.00
99	8-02	BARK-COMPOST-WOOD MULCH	C.Y.	1110	\$64.00	\$71,040.00	\$61.00	\$67,710.00	\$58.00	\$64,380.00	\$48.00	\$53,280.00	\$55.00	\$61,050.00	\$60.00	\$66,600.00
100	8.00	FIELD OFFICE BUILDING	L.S.	1	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$30,000.00	\$30,000.00	\$20,000.00	\$20,000.00	\$25,000.00	\$25,000.00	\$40,000.00	\$40,000.00
101	8-02	PSIPE - BULBS, 10 CM (Tulipa)	EACH	555	\$4.30	\$2,386.50	\$21.00	\$11,655.00	\$33.00	\$18,315.00	\$3.00	\$1,665.00	\$33.00	\$18,315.00	\$20.00	\$11,100.00
102	8-02	PSIPE - BULBS, DN I-200, DN II-275, DN III-375 (Narcissus)	EACH	580	\$4.30	\$2,494.00	\$21.00	\$12,180.00	\$33.00	\$19,140.00	\$3.00	\$1,740.00	\$33.00	\$19,140.00	\$20.00	\$11,600.00
103	8-02	PSIPE - GROUNDCOVER 1-GAL, 6-INCH HEIGHT (Arctostaphylos, Helianthemum, Juniperus)	EACH	3194	\$17.00	\$54,298.00	\$21.00	\$67,074.00	\$20.00	\$63,880.00	\$16.00	\$51,104.00	\$20.00	\$63,880.00	\$20.00	\$63,880.00
104	8-02	PSIPE - LIVE STAKES, 1-IN TO 2-IN DIAMETER, 3-FT LONG (Salix)	LF	42	\$7.60	\$319.20	\$21.00	\$882.00	\$31.00	\$1,302.00	\$6.00	\$252.00	\$30.00	\$1,260.00	\$20.00	\$840.00
105	8-02	PSIPE - PERENNIAL 1-GAL, 1 TO 2 FAN DIVISION (Hemerocallis) PSIPE - SHRUBS, DECIDUOUS, 1-GAL, 15-INCH HEIGHT (Cornus, Corylus, Holodiscus, Lavandula,	EACH	1092	\$8.00	\$8,736.00	\$21.00	\$22,932.00	\$33.00	\$36,036.00	\$16.00	\$17,472.00	\$34.00	\$37,128.00	\$20.00	\$21,840.00
106	8-02	Lonicera, Oemleria, Physocarpus, Rosa, Rubus, Spiraea douglasii, Symphorcarpos)	EACH	2948	\$27.75	\$81,807.00	\$21.00	\$61,908.00	\$13.00	\$38,324.00	\$16.00	\$47,168.00	\$13.00	\$38,324.00	\$20.00	\$58,960.00
107	8-02	PSIPE - SHRUBS, DECIDUOUS, 2-GAL, 18-INCH HEIGHT (Berberis, Ribes, Spiraea japonica)	EACH	2041	\$33.00	\$67,353.00	\$21.00	\$42,861.00	\$24.00	\$48,984.00	\$35.00	\$71,435.00	\$24.00	\$48,984.00	\$20.00	\$40,820.00
108	8-02	PSIPE - SHRUBS, EVERGREEEN, 1-GAL, 15-INCH HEIGHT (Mahonia aquifolium)	EACH	241	\$16.50	\$3,976.50	\$21.00	\$5,061.00	\$13.00	\$3,133.00	\$16.00	\$3,856.00	\$13.00	\$3,133.00	\$20.00	\$4,820.00
109	8-02	PSIPE - SHRUBS, EVERGREEEN, 2-GAL, 24-INCH HEIGHT (Mahonia aquifolium 'Compacta')	EACH	388	\$33.00	\$12,804.00	\$21.00	\$8,148.00	\$25.00	\$9,700.00	\$35.00	\$13,580.00	\$24.00	\$9,312.00	\$20.00	\$7,760.00
110	8-02	PSIPE - SHRUBS, EVERGREEEN, 5-GAL, 30-INCH HEIGHT (Cistus, Rhododendron)	EACH	393	\$55.00	\$21,615.00	\$82.00	\$32,226.00	\$51.00	\$20,043.00	\$77.00	\$30,261.00	\$48.00	\$18,864.00	\$80.00	\$31,440.00
111	8-02	PSIPE - TREES, DECIDUOUS, 2-GAL, 5-FOOT HEIGHT (Acer macrophyllum, Frangula, Populus)	EACH	114	\$33.00			\$5,814.00	\$290.00	\$33,060.00	\$60.00	\$6,840.00	\$270.00	\$30,780.00	\$50.00	\$5,700.00
112	8-02	PSIPE - TREES, DECIDUOUS, 2-INCH CAL, 20-GAL (Acer griseum, Ostrya)	EACH	104	\$326.00	\$33,904.00	\$51.00	\$5,304.00	\$500.00	\$52,000.00	\$410.00	\$42,640.00	\$470.00	\$48,880.00	\$50.00	\$5,200.00
113	8-02	PSIPE - TREES, EVERGREEEN, 2-GAL, 18-INCH HEIGHT (Pseudotsuga)	EACH	30	\$33.00	\$990.00	\$51.00	\$1,530.00	\$250.00	\$7,500.00	\$66.00	\$1,980.00	\$245.00	\$7,350.00	\$50.00	\$1,500.00
114	8-02	PSIPE - TREES, EVERGREEN, 25-GAL, 7-FOOT HEIGHT (Calocedrus)	EACH	35	\$326.00	\$11,410.00	\$500.00	\$17,500.00	\$400.00	\$14,000.00	\$330.00	\$11,550.00	\$375.00	\$13,125.00	\$500.00	\$17,500.00
115	8-02	ROOT BARRIER	L.F.	2570	\$10.75	\$27,627.50	\$19.00	\$48,830.00	\$11.00	\$28,270.00	\$13.00	\$33,410.00	\$11.00	\$28,270.00	\$18.00	\$46,260.00
116	8-04	CEMENT CONC. TRAFFIC CURB AND GUTTER	L.F.	10960	\$20.00	\$219,200.00	\$42.00	\$460,320.00	\$16.00	\$175,360.00	\$44.00	\$482,240.00	\$18.00	\$197,280.00	\$43.00	\$471,280.00
117	8-04	CEMENT CONC. TRAFFIC CURB	L.F.	700	\$35.00	\$24,500.00	\$45.00	\$31,500.00	\$28.00	\$19,600.00	\$51.00	\$35,700.00	\$32.00	\$22,400.00	\$47.00	\$32,900.00
118	8-04	DUAL-FACED CEMENT CONC. TRAFFIC CURB	L.F.	420	\$50.00	\$21,000.00	\$47.00	\$19,740.00	\$70.00	\$29,400.00	\$65.00	\$27,300.00	\$80.00	\$33,600.00	\$59.00	\$24,780.00
119	8-04	CEMENT CONC. PEDESTRIAN CURB	L.F.	571	\$25.00	\$14,275.00	\$46.00	\$26,266.00	\$30.00	\$17,130.00	\$52.00	\$29,692.00	\$30.00	\$17,130.00	\$47.00	\$26,837.00
120	8-04	ROUNDABOUT TRUCK APRON CEM. CONC. CURB AND GUTTER	L.F.	2770	\$60.00	\$166,200.00	\$47.00	\$130,190.00	\$24.00	\$66,480.00	\$47.00	\$130,190.00	\$27.00	\$74,790.00	\$42.00	\$116,340.00
121	8-04	ROUNDABOUT CEMENT CONCRETE CURB AND GUTTER	L.F.	4060	\$45.00	\$182,700.00	\$45.00	\$182,700.00	\$20.00	\$81,200.00	\$46.00	\$186,760.00	\$24.00	\$97,440.00	\$42.00	\$170,520.00
122	8-04	ROUNDABOUT CENTRAL ISLAND CEMENT CONCRETE CURB	L.F.	440	\$185.00	\$81,400.00	\$110.00	\$48,400.00	\$80.00	\$35,200.00	\$112.00	\$49,280.00	\$90.00	\$39,600.00	\$101.00	\$44,440.00
123	8-04	ROUNDABOUT SPLITTER ISLAND NOSING CURB	EACH	9	\$1,500.00	\$13,500.00	\$900.00	\$8,100.00	\$725.00	\$6,525.00	\$230.00	\$2,070.00	\$1,100.00	\$9,900.00	\$54.00	\$486.00
124	8-04	CEMENT CONC. GUTTER (For retaining walls)	L.F.	520	\$25.00	\$13,000.00	\$46.00	\$23,920.00	\$67.00	\$34,840.00	\$86.00	\$44,720.00	\$35.00	\$18,200.00	\$89.00	\$46,280.00

ENGINEER'S ESTIMATE

BIDDER #1

BIDDER #2

BIDDER #3

BIDDER #4

BIDDER #5

Project Name: NE 99th Street (NE 94th Avenue - Vicinity of NE 117th Avenue (SR 503)) ENGINEER'S ESTIMATE BIDDER #1 BIDDER #2 BIDDER #3 BIDDER #4 BIDDER #5 Project Number: CRP 350722 **Nutter Corporation** Rotschy, Inc. Active Construction, Inc. Tapani, Inc. Goodfellow Bros., LLC Bid Opening Date: November 2, 2021 7211 NE 43rd Ave STE A 7408 NE 113th Cir 5110 River Rd. E 1904 SE 6th PI 7515 NE Ambassador Pl. STE E Vancouver, WA 98661-1377 Vancouver, WA 98662-2351 Tacoma, WA 98443-2638 Battle Ground, WA 98604-8300 Portland, OR 97220-1379

							Vancouver, WA 98661-1377 (360) 573-2000		-				Battle Ground, WA 98604-8300 (360) 687-1148		Portland, OR 9 (503) 265	
BID ITEM NO.	SPEC. SECTION	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
125	8-04	CEMENT CONC. ROLLED CURB	L.F.	31	\$20.00	\$620.00	\$47.00	\$1,457.00	\$37.00	\$1,147.00	\$130.00	\$4,030.00	\$48.00	\$1,488.00	\$112.00	\$3,472.00
126	8-06	CEMENT CONC. APPROACH	S.Y.	890	\$100.00	\$89,000.00	\$134.00	\$119,260.00	\$83.00	\$73,870.00	\$160.00	\$142,400.00	\$97.00	\$86,330.00	\$171.00	\$152,190.00
127	8-06	COMMERCIAL CEMENT CONC. APPROACH (Detached Sidewalk)	S.Y.	220	\$120.00	\$26,400.00	\$168.00	\$36,960.00	\$100.00	\$22,000.00	\$160.00	\$35,200.00	\$150.00	\$33,000.00	\$169.00	\$37,180.00
128	8-06	DRIVEWAY CONSTRUCTION TYPE HMA	S.Y.	1220	\$50.00	\$61,000.00	\$39.00	\$47,580.00	\$37.00	\$45,140.00	\$34.00	\$41,480.00	\$55.00	\$67,100.00	\$44.00	\$53,680.00
129	8-06	DRIVEWAY CONSTRUCTION TYPE CONCRETE	S.Y.	630	\$85.00	\$53,550.00	\$121.00	\$76,230.00	\$93.00	\$58,590.00	\$138.00	\$86,940.00	\$115.00	\$72,450.00	\$147.00	\$92,610.00
130	8-06	DRIVEWAY CONSTRUCTION TYPE GRAVEL	S.Y.	1420	\$20.00	\$28,400.00	\$17.00	\$24,140.00	\$17.00	\$24,140.00	\$15.00	\$21,300.00	\$27.00	\$38,340.00	\$22.00	\$31,240.00
131	8-09	RAISED PAVEMENT MARKER TYPE 2	HUND	13	\$700.00	\$9,100.00	\$530.00	\$6,890.00	\$560.00	\$7,280.00	\$575.00	\$7,475.00	\$530.00	\$6,890.00	\$999.00	\$12,987.00
132	8-10	TUBULAR MARKER	EACH	19	\$150.00	\$2,850.00	\$145.00	\$2,755.00	\$480.00	\$9,120.00	\$275.00	\$5,225.00	\$180.00	\$3,420.00	\$150.00	\$2,850.00
133	8-11	BEAM GUARDRAIL TYPE 31	L.F.	90	\$32.00	\$2,880.00	\$128.00	\$11,520.00	\$130.00	\$11,700.00	\$83.00	\$7,470.00	\$75.00	\$6,750.00	\$125.00	\$11,250.00
134	8-11	BEAM GUARDRAIL ANCHOR TYPE 10	EACH	3	\$1,500.00	\$4,500.00	\$1,550.00	\$4,650.00	\$1,600.00	\$4,800.00	\$1,850.00	\$5,550.00	\$1,700.00	\$5,100.00	\$1,500.00	\$4,500.00
135	8-11	BEAM GUARDRAIL TYPE 31 NON-FLARED TERMINAL	EACH	9	\$3,600.00	\$32,400.00	\$5,000.00	\$45,000.00	\$5,300.00	\$47,700.00	\$6,300.00	\$56,700.00	\$6,000.00	\$54,000.00	\$4,950.00	\$44,550.00
136	8-12	CHAIN LINK FENCE TYPE 3	L.F.	2850	\$25.00	\$71,250.00	\$30.00	\$85,500.00	\$30.00	\$85,500.00	\$51.00	\$145,350.00	\$40.00	\$114,000.00	\$47.00	\$133,950.00
137	8-12	DOUBLE 20 FT. CHAIN LINK GATE	EACH	1	\$1,000.00	\$1,000.00	\$1,900.00	\$1,900.00	\$1,900.00	\$1,900.00	\$3,300.00	\$3,300.00	\$2,000.00	\$2,000.00	\$2,990.00	\$2,990.00
138	8-12	SINGLE 6 FT. CHAIN LINK GATE	EACH	2	\$200.00	\$400.00	\$675.00	\$1,350.00	\$700.00	\$1,400.00	\$1,200.00	\$2,400.00	\$875.00	\$1,750.00	\$1,100.00	\$2,200.00
139	8-12	CABLE FENCE	L.F.	525	\$15.00	\$7,875.00	\$56.00	\$29,400.00	\$58.00	\$30,450.00	\$60.00	\$31,500.00	\$60.00	\$31,500.00	\$45.00	\$23,625.00
140	8-12	COATED CHAIN LINK FENCE TYPE 3	L.F.	1080	\$22.00	\$23,760.00	\$43.00	\$46,440.00	\$46.00	\$49,680.00	\$60.00	\$64,800.00	\$45.00	\$48,600.00	\$55.00	\$59,400.00
141	8-12	COATED CHAIN LINK FENCE TYPE 3 (with Privacy Slats)	L.F.	320	\$30.00	\$9,600.00	\$50.00	\$16,000.00	\$52.00	\$16,640.00	\$76.00	\$24,320.00	\$50.00	\$16,000.00	\$70.00	\$22,400.00
142	8-12	COATED CHAIN LINK FENCE TYPE 4	L.F.	800	\$20.00	\$16,000.00	\$37.00	\$29,600.00	\$38.00	\$30,400.00	\$66.00	\$52,800.00	\$40.00	\$32,000.00	\$60.00	\$48,000.00
143	8-12	DOUBLE 14 FT. COATED CHAIN LINK GATE	EACH	2	\$1,500.00	\$3,000.00	\$1,000.00	\$2,000.00	\$1,000.00	\$2,000.00	\$2,900.00	\$5,800.00	\$1,500.00	\$3,000.00	\$2,610.00	\$5,220.00
144	8-12	TEMPORARY CHAIN LINK FENCE	L.F.	2780	\$6.00	\$16,680.00	\$5.50	\$15,290.00	\$4.30	\$11,954.00	\$6.50	\$18,070.00	\$7.00	\$19,460.00	\$6.00	\$16,680.00
145	8-14	CEMENT CONC. SIDEWALK	S.Y.	8090	\$65.00	\$525,850.00	\$104.00	\$841,360.00	\$58.00	\$469,220.00	\$90.00	\$728,100.00	\$65.00	\$525,850.00	\$76.00	\$614,840.00
146	8-14	CEMENT CONC. SIDEWALK WITH RAISED EDGE	S.Y.	39	\$75.00	\$2,925.00	\$56.00	\$2,184.00	\$339.00	\$13,221.00	\$120.00	\$4,680.00	\$350.00	\$13,650.00	\$98.00	\$3,822.00
147	8-14	CEMENT CONC. CURB RAMP	S.Y.	980	\$150.00	\$147,000.00	\$137.00	\$134,260.00	\$135.00	\$132,300.00	\$163.00	\$159,740.00	\$145.00	\$142,100.00	\$136.00	\$133,280.00
148	8-14	DETECTABLE WARNING SURFACE	S.F.	610	\$40.00	\$24,400.00	\$70.00	\$42,700.00	\$37.00	\$22,570.00	\$65.00	\$39,650.00	\$40.00	\$24,400.00	\$59.00	\$35,990.00
149	8-15	LIGHT LOOSE RIPRAP	C.Y.	60	\$300.00	\$18,000.00	\$140.00	\$8,400.00	\$103.00	\$6,180.00	\$95.00	\$5,700.00	\$125.00	\$7,500.00	\$260.00	\$15,600.00
150	8-18	MAILBOX SUPPORT, TYPE 1	EACH	5	\$475.00	\$2,375.00	\$350.00	\$1,750.00	\$450.00	\$2,250.00	\$375.00	\$1,875.00	\$500.00	\$2,500.00	\$600.00	\$3,000.00
151	8-18	MAILBOX SUPPORT, TYPE 2	EACH	2	\$550.00	\$1,100.00	\$700.00	\$1,400.00	\$800.00	\$1,600.00	\$850.00	\$1,700.00	\$850.00	\$1,700.00	\$600.00	\$1,200.00
152	8-18	MAILBOX SUPPORT, TYPE CMU	EACH	1	\$1,000.00	\$1,000.00	\$4,000.00	\$4,000.00	\$3,100.00	\$3,100.00	\$3,500.00	\$3,500.00	\$4,300.00	\$4,300.00	\$1,100.00	\$1,100.00
153	8-20	ILLUMINATION SYSTEM	L.S.	1	\$348,315.00	\$348,315.00	\$490,000.00	\$490,000.00	\$515,000.00	\$515,000.00	\$530,000.00	\$530,000.00	\$585,000.00	\$585,000.00	\$500,000.00	\$500,000.00
154	8-20	ITS	L.S.	1	\$334,819.00	\$334,819.00	\$357,000.00	\$357,000.00	\$375,000.00	\$375,000.00	\$385,000.00	\$385,000.00	\$575,000.00	\$575,000.00	\$400,000.00	\$400,000.00
155	8-20	TEMPORARY CONSTRUCTION CAMERA SYSTEM (NE 94TH AV AT NE 99TH ST)	L.S.	1	\$7,800.00	\$7,800.00	\$4,100.00	\$4,100.00	\$4,300.00	\$4,300.00	\$4,400.00	\$4,400.00	\$14,000.00	\$14,000.00	\$4,000.00	\$4,000.00
156	8-20	TEMPORARY CONSTRUCTION CAMERA SYSTEM (NE 107TH AV AT NE 99TH ST)	L.S.	1	\$7,800.00	\$7,800.00	\$4,100.00	\$4,100.00	\$4,300.00	\$4,300.00	\$4,400.00	\$4,400.00	\$14,000.00	\$14,000.00	\$4,000.00	\$4,000.00
157	8-21	PERMANENT SIGNING	L.S.	1	\$44,000.00	\$44,000.00	\$90,000.00	\$90,000.00	\$150,000.00	\$150,000.00	\$115,000.00	\$115,000.00	\$140,000.00	\$140,000.00	\$137,000.00	\$137,000.00
158	8-21	PERMANENT SIGNING (Stormwater Facility)	L.S.	1	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00	\$280.00	\$280.00	\$5,000.00	\$5,000.00	\$1,000.00	\$1,000.00	\$2,500.00	\$2,500.00
159	8-22	PAINT LINE	L.F.	11650	\$0.37	\$4,310.50	\$0.30	\$3,495.00	\$0.32	\$3,728.00	\$0.29	\$3,378.50	\$0.30	\$3,495.00	\$0.30	\$3,495.00
160	8-22	PLASTIC LINE	L.F.	1950	\$3.00	\$5,850.00	\$1.60	\$3,120.00	\$1.75	\$3,412.50	\$1.70	\$3,315.00	\$1.75	\$3,412.50	\$1.60	\$3,120.00
161	8-22	PLASTIC CROSSWALK LINE	S.F.	1260	\$8.50	\$10,710.00	\$9.00	\$11,340.00	\$9.50	\$11,970.00	\$9.60	\$12,096.00	\$9.00	\$11,340.00	\$9.00	\$11,340.00
162	8-22	PLASTIC TRAFFIC ARROW	EACH	10	\$250.00	\$2,500.00	\$280.00	\$2,800.00	\$290.00	\$2,900.00	\$300.00	\$3,000.00	\$300.00	\$3,000.00	\$275.00	\$2,750.00
163	8-22	PLASTIC BICYCLE LANE SYMBOL	EACH	3	\$275.00	\$825.00	\$330.00	\$990.00	\$350.00	\$1,050.00	\$350.00	\$1,050.00	\$350.00	\$1,050.00	\$325.00	\$975.00
164	8-22	PLASTIC YIELD LINE SYMBOL	EACH	57	\$24.00	\$1,368.00	\$50.00	\$2,850.00	\$50.00	\$2,850.00	\$50.00	\$2,850.00	\$50.00	\$2,850.00	\$47.00	\$2,679.00
165	8.00	RESIDENTIAL SANITARY SEWER - (Donalde)	L.S.	1	\$7,500.00	\$7,500.00	\$19,000.00	\$19,000.00	\$12,000.00	\$12,000.00	\$8,000.00	\$8,000.00	\$20,000.00	\$20,000.00	\$13,000.00	\$13,000.00
166	8.00	RESIDENTIAL SANITARY SEWER - (Herrejon)	L.S.	1	\$5,000.00	\$5,000.00	\$16,000.00	\$16,000.00	\$10,000.00	\$10,000.00	\$8,000.00	\$8,000.00	\$9,500.00	\$9,500.00	\$30,000.00	\$30,000.00

Project Name: NE 99th Street (NE 94th Avenue - Vicinity of NE 117th Avenue (SR 503)) Project Number: CRP 350722 Bid Opening Date: November 2, 2021				ENGINEER'S ESTIMATE		BIDDER #1 Nutter Corporation 7211 NE 43rd Ave STE A Vancouver, WA 98661-1377 (360) 573-2000		BIDDER #2 Rotschy, Inc. 7408 NE 113th Cir Vancouver, WA 98662-2351 (360) 334-3100		BIDDER #3 Active Construction, Inc. 5110 River Rd. E Tacoma, WA 98443-2638 (253) 248-1091		BIDDER #4 Tapani, Inc. 1904 SE 6th PI Battle Ground, WA 98604-8300 (360) 687-1148		BIDDEI Goodfellow E 7515 NE Ambassa Portland, OR 9 (503) 265	Bros., LLC ador Pl. STE E 97220-1379
BID ITEM NO.	SPEC. SECTION DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
		SCHEDU	LE A TOTAL		\$15,587,372.20	;	\$16,106,063.52		\$16,615,290.90		\$17,725,603.17		\$18,188,389.50		\$21,327,125.00
														1	
SCHEDUL	B - CLARK REGIONAL WASTEWATER DISTRICT SANITARY SEWER														
167	APPX. A MOBILIZATION	L.S.	1	\$190,000.00	\$190,000.00	\$7,500.00	\$7,500.00	\$5,000.00	\$5,000.00	\$25,000.00	\$25,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00
168	APPX. A MINOR CHANGE	EST	1	\$80,000.00	\$80,000.00	\$80,000.00	\$80,000.00	\$80,000.00	\$80,000.00	\$80,000.00	\$80,000.00	\$80,000.00	\$80,000.00	\$80,000.00	\$80,000.00
169	APPX. A QUALITY CONTROL PLAN	L.S.	1	\$10,000.00	\$10,000.00	\$2,000.00	\$2,000.00	\$1,500.00	\$1,500.00	\$100.00	\$100.00	\$1,000.00	\$1,000.00	\$5,000.00	\$5,000.00
170	APPX. A SPCC PLAN	L.S.	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$100.00	\$100.00	\$1,000.00	\$1,000.00	\$5,000.00	\$5,000.00
171	APPX. A PROJECT TEMPORARY TRAFFIC CONTROL	L.S.	350	\$5,000.00	\$5,000.00	\$1,500.00	\$1,500.00	\$6,200.00	\$6,200.00	\$500.00	\$500.00	\$3,000.00	\$3,000.00	\$30,000.00	\$30,000.00
172 173	APPX. A FLAGGERS (Minimum Bid of \$30.00 per Hour) APPX. A RECORD DRAWINGS (Minimum Bid \$5,000)	HOUR L.S.	350	\$62.00 \$20,000.00	\$21,700.00 \$20,000.00	\$70.00 \$5,000.00	\$24,500.00 \$5,000.00	\$70.00 \$5,000.00	\$24,500.00 \$5,000.00	\$60.00 \$5,000.00	\$21,000.00 \$5,000.00	\$30.00 \$5,000.00	\$10,500.00 \$5,000.00	\$60.00 \$5,000.00	\$21,000.00 \$5,000.00
173	APPX. A DECOMBISSION EXISTING PUMP STATION	L.S.	1	\$30,000.00	\$30,000.00	\$8,000.00	\$8,000.00	\$3,500.00	\$3,500.00	\$7,000.00	\$7,000.00	\$12,000.00	\$12,000.00	\$20,000.00	\$20,000.00
175	APPX. A ABANDONMENT OF EXISTING SANITARY PRESSURE MAIN	L.S.	1	\$1,000.00	\$1,000.00	\$5,700.00	\$5,700.00	\$3,400.00	\$3,400.00	\$2,000.00	\$2,000.00	\$4,500.00	\$4,500.00	\$5,000.00	\$5,000.00
176	APPX. A REMOVAL OF EXISTING SANITARY PRESSURE MAIN WITH NATIVE BACKFILL	L.F.	1150	\$90.00	\$103,500.00	\$20.00	\$23,000.00	\$7.50	\$8,625.00	\$17.00	\$19,550.00	\$9.50	\$10,925.00	\$16.00	\$18,400.00
177	APPX. A CONTINGENCY PLAN - TRASH AND CONTAMINATION TESTING, HANDLING AND REMOVAL	EST	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
178	APPX. A CONTINGENCY PLAN COMPLIANCE (Minimum Bid \$2,000)	L.S.	1	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
179	APPX. A MANHOLE 60 IN. DIAM. TYPE 1 (10-20 FT DEEP)	EACH	1	\$10,000.00	\$10,000.00	\$13,000.00	\$13,000.00	\$14,000.00	\$14,000.00	\$13,500.00	\$13,500.00	\$19,500.00	\$19,500.00	\$13,000.00	\$13,000.00
180	APPX. A MANHOLE 60 IN. DIAM. TYPE 1 (21-30 FT DEEP)	EACH	1	\$18,000.00	\$18,000.00	\$13,000.00	\$13,000.00	\$29,000.00	\$29,000.00	\$15,000.00	\$15,000.00	\$20,000.00	\$20,000.00	\$14,500.00	\$14,500.00
181	APPX. A MANHOLE 48 IN. DIAM. TYPE 1 (21-30 FT DEEP) W/ PRECAST CHANNEL	EACH	4	\$15,000.00	\$60,000.00	\$9,400.00	\$37,600.00	\$8,000.00	\$32,000.00	\$10,000.00	\$40,000.00	\$18,500.00	\$74,000.00	\$10,100.00	\$40,400.00
182	APPX. A MANHOLE 60 IN. DIAM. TYPE 1 (10-20 FT DEEP) W/ PRECAST CHANNEL	EACH	2	\$14,000.00	\$28,000.00	\$13,000.00	\$26,000.00	\$13,000.00	\$26,000.00	\$13,000.00	\$26,000.00	\$19,000.00	\$38,000.00	\$12,000.00	\$24,000.00
183	APPX. A WANHOLE 60 IN. DIAM. TYPE 1 (21-30 FT DEEP) W/ PRECAST CHANNEL	EACH	3	\$18,000.00	\$54,000.00	\$13,000.00	\$39,000.00	\$14,000.00	\$42,000.00	\$15,000.00	\$45,000.00	\$19,500.00	\$58,500.00	\$13,500.00	\$40,500.00
184 185	APPX. A TRENCH SAFETY SYSTEM (Minimum Bid of \$20.00/L.F.)	EACH L.F.	2846	\$1,500.00 \$35.00	\$3,000.00 \$99,610.00	\$3,200.00 \$20.00	\$6,400.00 \$56,920.00	\$2,000.00 \$20.00	\$4,000.00 \$56,920.00	\$5,000.00 \$20.00	\$10,000.00 \$56,920.00	\$1,500.00 \$20.00	\$3,000.00 \$56,920.00	\$2,200.00 \$20.00	\$4,400.00 \$56,920.00
186	APPX. A CLAY DAM	EACH	9	\$1,000.00	\$9,000.00	\$500.00	\$4,500.00	\$590.00	\$5,310.00	\$1,475.00	\$13,275.00	\$2,000.00	\$18,000.00	\$1,000.00	\$9,000.00
187	APPX. A REMOVAL AND REPLACEMENT OF UNSUITABLE MATERIAL	C.Y.	800	\$1,000.00	\$80,000.00	\$95.00	\$76,000.00	\$35.00		\$45.00	\$36,000.00	\$125.00	\$100,000.00	\$110.00	\$88,000.00
188	APPX. A SANITARY SEWER PIPE 24 IN. DIAM. (STA 11+61 TO 23+36)	L.F.	1175	\$400.00	\$470,000.00	\$280.00	\$329,000.00	\$389.00		\$600.00	\$705,000.00	\$500.00	\$587,500.00	\$482.00	\$566,350.00
189	APPX. A SANITARY SEWER PIPE 24 IN. DIAM. (STA 23+36 TO 35+31)	L.F.	1195	\$400.00	\$478,000.00	\$142.00	\$169,690.00	\$147.00	\$175,665.00	\$300.00	\$358,500.00	\$475.00	\$567,625.00	\$245.00	\$292,775.00
190	APPX. A SANITARY SEWER PIPE 24 IN. DIAM. (STA 45+87 TO 46+81)	L.F.	94	\$450.00	\$42,300.00	\$258.00	\$24,252.00	\$349.00	\$32,806.00	\$550.00	\$51,700.00	\$475.00	\$44,650.00	\$358.00	\$33,652.00
191	APPX. A SANITARY SEWER PIPE 15 IN. DIAM. (STA 46+61 TO 50+63)	L.F.	382	\$350.00	\$133,700.00	\$132.00	\$50,424.00	\$241.00	\$92,062.00	\$350.00	\$133,700.00	\$250.00	\$95,500.00	\$328.00	\$125,296.00
192	APPX. A PVC SDR 35 SANITARY SEWER PIPE 4 IN. DIAM.	L.F.	10	\$3,000.00	\$30,000.00	\$100.00	\$1,000.00	\$220.00	\$2,200.00	\$124.00	\$1,240.00	\$225.00	\$2,250.00	\$169.00	\$1,690.00
193	APPX. A CCTV SEWER INSPECTION	L.F.	2846	\$5.00	\$14,230.00	\$3.00	\$8,538.00	\$2.00		\$5.00	\$14,230.00	\$1.50	\$4,269.00	\$2.00	\$5,692.00
194	APPX. A TEMPORARY BYPASS PUMPING SYSTEM	L.S.	1	\$20,000.00	\$20,000.00	\$12,000.00	\$12,000.00	\$7,200.00		\$18,500.00	\$18,500.00	\$10,000.00	\$10,000.00	\$40,000.00	\$40,000.00
195	APPX. A CLEANOUT 4 IN. DIAM.	EACH	1	\$3,000.00	\$3,000.00	\$900.00	\$900.00	\$350.00		\$625.00	\$625.00	\$450.00	\$450.00	\$1,200.00	\$1,200.00
196	APPX. A SANITARY STUB MARKER 4 IN. DIAM.	EACH	1	\$3,000.00	\$3,000.00	\$250.00	\$250.00	\$400.00		\$30.00	\$30.00	\$550.00	\$550.00	\$1,400.00	\$1,400.00
197 198	APPX. A ADJUST MANHOLE APPX. A ADJUST CLEANOUT	EACH EACH	17	\$600.00 \$200.00	\$10,200.00 \$200.00	\$400.00 \$350.00	\$6,800.00 \$350.00	\$600.00 \$290.00		\$1,000.00 \$150.00	\$17,000.00 \$150.00	\$1,300.00 \$300.00	\$22,100.00 \$300.00	\$850.00 \$850.00	\$14,450.00 \$850.00
190	APPX. A EROSION CONTROL AND WATER POLLUTION CONTROL	L.S.	1	\$8,000.00	\$8,000.00	\$1,000.00	\$350.00	\$3,000.00	\$3,000.00	\$150.00	\$150.00	\$1,000.00	\$1,000.00	\$15,000.00	\$15,000.00
200	APPX. A COMMERCIAL CEMENT CONC. APPROACH	SY	75	\$115.00	\$8,625.00	\$100.00	\$7,500.00	\$125.00		\$135.00	\$10,125.00	\$125.00	\$9,375.00	\$95.00	\$7,125.00
201	APPX. A WOODEN FENCE	L.F.	50	\$150.00	\$7,500.00	\$60.00	\$3,000.00	\$50.00		\$55.00	\$2,750.00	\$70.00	\$3,500.00	\$50.00	\$2,500.00
202	APPX. A TEMPORARY DEWATERING SYSTEM	L.S.	1	\$200,000.00	\$200,000.00	\$480,000.00	\$480,000.00	\$300,000.00		\$125,000.00	\$125,000.00	\$100,000.00	\$100,000.00	\$575,000.00	\$575,000.00
203	APPX. A TEMPORARY DEWATERING PORTABLE WEIR TANK(S)	MONTH	6	\$3,500.00	\$21,000.00	\$9,000.00	\$54,000.00	\$2,100.00	\$12,600.00	\$4,500.00	\$27,000.00	\$3,000.00	\$18,000.00	\$20,000.00	\$120,000.00

Pro Bid O	Project Name: NE 99th Street (NE 94th Avenue - Vicinity of NE 117th Avenue (SR 503)) Project Number: CRP 350722 Bid Opening Date: November 2, 2021 BID ITEM SPEC.			ENGINEER'S ESTIMATE		BIDDER #1 Nutter Corporation 7211 NE 43rd Ave STE A Vancouver, WA 98661-1377 (360) 573-2000		BIDDER #2 Rotschy, Inc. 7408 NE 113th Cir Vancouver, WA 98662-2351 (360) 334-3100		BIDDER #3 Active Construction, Inc. 5110 River Rd. E Tacoma, WA 98443-2638 (253) 248-1091		BIDDER #4 Tapani, Inc. 1904 SE 6th PI Battle Ground, WA 98604-8300 (360) 687-1148		BIDDE Goodfellow I 7515 NE Ambass Portland, OR (503) 269	Bros., LLC ador Pl. STE E 97220-1379
BID ITEM NO.	SPEC. DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
		SCHEDULE E	SUBTOTAL		\$2,375,565.00		\$1,681,324.00		\$1,589,870.00		\$1,983,770.00		\$2,234,914.00		\$2,535,100.00
	WASHINGTON	STATE SALES	ΓΑΧ at 8.40%	_	\$199,547.46	_	\$141,231.22		\$133,549.08	_	\$166,636.68	_	\$187,732.78	_	\$212,948.40
		SCHEDU	LE B TOTAL		\$2,575,112.46		\$1,822,555.22		\$1,723,419.08		\$2,150,406.68		\$2,422,646.78		\$2,748,048.40
SCHEDIII	CCHEDULE C - CITY OF VANCOUVER WATER LINE														
SCHEDUL	E C - CITT OF VANCOUVER WATER LINE														
204	APPX. B MOBILIZATION	L.S.	1	\$20,000.00	\$20,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$55,000.00	\$55,000.00
205	APPX. B PROJECT TEMPORARY TRAFFIC CONTROL	L.S.	1	\$10,000.00	\$10,000.00	\$1,000.00	\$1,000.00	\$6,700.00	\$6,700.00	\$250.00	\$250.00	\$5,000.00	\$5,000.00	\$25,000.00	\$25,000.00
206	APPX. B TRENCH SAFETY SYSTEM (MINIMUM BID \$3 PER LINEAR FOOT)	L.F.	3352	\$3.00	\$10,056.00	\$3.00	\$10,056.00	\$3.00	\$10,056.00	\$3.00	\$10,056.00	\$3.00	\$10,056.00	\$3.00	\$10,056.00
207	APPX. B TRENCH EXCAVATION, BACKFILL AND COMPACTION	L.F.	3352	\$16.00	\$53,632.00	\$5.00	\$16,760.00	\$7.50	\$25,140.00	\$0.20	\$670.40	\$25.00	\$83,800.00	\$20.00	\$67,040.00
208	APPX. B ZINC COATED DUCTILE IRON PIPE FOR WATER MAIN 6-IN DIA (ALL RESSTRAINED JOINT)	L.F.	136	\$61.80	\$8,404.80	\$61.00	\$8,296.00	\$85.00	\$11,560.00	\$64.00	\$8,704.00	\$35.00	\$4,760.00	\$118.00	\$16,048.00
209	APPX. B ZINC COATED DUCTILE IRON PIPE FOR WATER MAIN 8-IN DIA. (ALL RESTRAINED JOINT)	L.F.	125	\$61.00	\$7,625.00	\$79.00	\$9,875.00	\$91.00	\$11,375.00	\$88.00	\$11,000.00	\$50.00	\$6,250.00	\$124.00	\$15,500.00
210	APPX. B ZINC COATED DUCTILE IRON PIPE FOR WATER MAIN 12-IN DIA (ALL RESTRAINED JOINT)	L.F.	3091	\$77.00	\$238,007.00	\$93.00	\$287,463.00	\$95.00	\$293,645.00	\$99.00	\$306,009.00	\$60.00	\$185,460.00	\$115.00	\$355,465.00
211	APPX. B 12 IN. MJ X 12 IN. MJ TEE	EACH	1	\$1,254.00	\$1,254.00	\$1,100.00	\$1,100.00	\$1,200.00	\$1,200.00	\$1,300.00	\$1,300.00	\$1,200.00	\$1,200.00	\$1,600.00	\$1,600.00
212	APPX. B 12 IN. MJ X 8 IN. MJ TEE	EACH	2	\$925.00	\$1,850.00	\$900.00	\$1,800.00	\$1,050.00	\$2,100.00	\$1,100.00	\$2,200.00	\$975.00	\$1,950.00	\$1,500.00	\$3,000.00
213	APPX. B 12 IN. MJ X 6 IN. FL TEE	EACH	5	\$720.00	\$3,600.00	\$850.00	\$4,250.00	\$895.00	\$4,475.00	\$1,000.00	\$5,000.00	\$875.00	\$4,375.00	\$1,300.00	\$6,500.00
214	APPX. B 12 IN. X 8 IN. MJ REDUCER	EACH	2	\$440.00	\$880.00	\$600.00	\$1,200.00	\$550.00	\$1,100.00	\$600.00	\$1,200.00	\$900.00	\$1,800.00	\$1,100.00	\$2,200.00
215	APPX. B 8 IN. X 6 IN. MJ REDUCER APPX. B 12 IN. MJ 22.5° BEND	EACH EACH	2	\$242.00 \$660.00	\$242.00 \$1,320.00	\$400.00 \$800.00	\$400.00 \$1,600.00	\$300.00 \$750.00	\$300.00 \$1,500.00	\$350.00 \$800.00	\$350.00 \$1,600.00	\$350.00 \$750.00	\$350.00 \$1,500.00	\$900.00 \$1,200.00	\$900.00 \$2,400.00
216 217	APPX. B 12 IN. MJ 45° BEND	EACH	2	\$660.00	\$1,320.00	\$850.00	\$1,700.00	\$750.00	\$1,500.00	\$800.00	\$1,600.00	\$800.00	\$1,500.00	\$1,200.00	\$2,400.00
218	APPX. B 8 IN. MJ PLUG	EACH	1	\$165.00	\$1,320.00	\$300.00	\$300.00	\$220.00	\$220.00	\$200.00	\$200.00	\$275.00	\$275.00	\$800.00	\$800.00
219	APPX. B 12 IN. MJ PLUG	EACH	2	\$225.00	\$450.00	\$400.00	\$800.00	\$350.00	\$700.00	\$400.00	\$800.00	\$250.00	\$500.00	\$900.00	\$1,800.00
220	APPX. B LOWER EXISTING 12-INCH DUCTILE IRON PIPE	L.S.	1	\$2,500.00	\$2,500.00	\$9,000.00	\$9,000.00	\$9,000.00	\$9,000.00	\$10,000.00	\$10,000.00	\$9,000.00	\$9,000.00	\$15,000.00	\$15,000.00
221	APPX. B CONECT TO EXISTING 8 IN. WATER MAIN	EACH	3	\$2,000.00	\$6,000.00	\$1,400.00	\$4,200.00	\$1,800.00	\$5,400.00	\$1,850.00	\$5,550.00	\$2,500.00	\$7,500.00	\$2,300.00	\$6,900.00
222	APPX. B CONNECT TO EXISTING 12 IN. WATER MAIN	EACH	5	\$2,500.00	\$12,500.00	\$2,200.00	\$11,000.00	\$2,500.00	\$12,500.00	\$2,200.00	\$11,000.00	\$2,800.00	\$14,000.00	\$3,000.00	\$15,000.00
223	APPX. B BANK RUN GRAVEL FOR TRENCH BACKFILL	C.Y.	820	\$16.50	\$13,530.00	\$1.00	\$820.00	\$10.00	\$8,200.00	\$30.00	\$24,600.00	\$30.00	\$24,600.00	\$60.00	\$49,200.00
224	APPX. B THRUST BLOCK	EACH	5	\$195.00	\$975.00	\$100.00	\$500.00	\$300.00	\$1,500.00	\$270.00	\$1,350.00	\$250.00	\$1,250.00	\$300.00	\$1,500.00
225	APPX. B CUT AND PLUG EXISTING PIPE	EACH	3	\$400.00	\$1,200.00	\$250.00	\$750.00	\$125.00	\$375.00	\$180.00	\$540.00	\$250.00	\$750.00	\$800.00	\$2,400.00
226	APPX. B GATE VALVE 8 IN. MJ	EACH	1	\$1,156.00	\$1,156.00	\$1,350.00	\$1,350.00	\$1,750.00	\$1,750.00	\$2,400.00	\$2,400.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00
227	APPX. B BUTTERFLY VALVE 12 IN. MJ	EACH	5	\$1,995.00	\$9,975.00	\$2,050.00	\$10,250.00	\$5,100.00	\$25,500.00	\$6,000.00	\$30,000.00	\$6,000.00	\$30,000.00	\$3,000.00	\$15,000.00
228	APPX. B HYDRANT ASSEMBLY (INCLUDES AUXILIARY 6-INCH MJ X FLG GATE VALVE)	EACH	5	\$4,100.00	\$20,500.00	\$4,200.00	\$21,000.00	\$5,150.00	\$25,750.00	\$7,150.00	\$35,750.00	\$5,500.00	\$27,500.00	\$6,000.00	\$30,000.00
229	APPX. B REMOVE AND SALVAGE EXISTING FIRE HYDRANT ASSEMBLY	EACH	1	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$400.00		\$3,100.00	\$3,100.00	\$750.00	\$750.00	\$1,600.00	\$1,600.00
230	APPX. B RESETTING EXISTING HYDRANT	EACH	1	\$1,900.00	\$1,900.00	\$1,000.00	\$1,000.00	\$2,250.00		\$3,100.00	\$3,100.00	\$1,800.00	\$1,800.00	\$1,800.00	\$1,800.00
231	APPX. B WATER SERVICE REPLACEMENTS 1 IN.	EACH	4	\$2,530.00	\$10,120.00	\$1,800.00	\$7,200.00	\$2,100.00		\$2,300.00	\$9,200.00	\$2,700.00	\$10,800.00	\$2,100.00	\$8,400.00
232	APPX. B WATER SERVICE TRANSFERS 1 IN.	EACH L.S.	2	\$1,065.00	\$2,130.00	\$1,100.00	\$2,200.00	\$1,450.00		\$1,600.00	\$3,200.00	\$1,000.00	\$2,000.00	\$1,500.00	\$3,000.00
233	APPX. B EROSION CONTROL AND WATER POLLUTION CONTROL	1	\$500.00	\$500.00 \$3,430.00	\$1,000.00	\$1,000.00 \$7,500.00	\$3,000.00 \$7,450.00		\$250.00 \$6,000.00	\$250.00	\$500.00	\$500.00	\$13,500.00	\$13,500.00	
234	APPX. B COMBINATION AIR RELEASE/AIR VACUUM VALVE ASSEMBLY 2 IN.	SUBTOTAL	\$3,430.00	\$3,430.00 \$446,221.80	\$7,500.00	\$7,500.00 \$429,870.00	\$7,450.00	\$7,450.00 \$490,946.00	φο,υυυ.υυ	\$6,000.00 \$511,979.40	\$7,000.00	\$7,000.00 \$463,326.00	\$8,000.00	\$8,000.00 \$739,209.00	
	WASHINGTON	STATE SALES			\$37,482.63		\$429,870.00		\$490,946.00 \$41,239.46		\$43,006.27		\$38,919.38		\$62,093.56
	TRASHINGTON		ILE C TOTAL	-	\$483,704.43	_	\$465,979.08		\$532,185.46	-	\$554,985.67	_	\$502,245.38	-	\$801,302.56
		33,,250			ţ 3,. v 10		Ţ . 1 1 jo . 0. 30		, , , , , , , , , , , , , , , , , , , ,		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		, , , , , , , , , , , , , , , , , , ,		711.,002.00

Proj	Project Name: NE 99th Street (NE 94th Avenue - Vicinity of NE 117th Avenue (SR 503)) Project Number: CRP 350722 Bid Opening Date: November 2, 2021				ENGINEER'	S ESTIMATE	BIDDER #1 Nutter Corporation 7211 NE 43rd Ave STE A Vancouver, WA 98661-1377 (360) 573-2000		BIDDER #2 Rotschy, Inc. 7408 NE 113th Cir Vancouver, WA 98662-2351 (360) 334-3100		BIDDER #3 Active Construction, Inc. 5110 River Rd. E Tacoma, WA 98443-2638 (253) 248-1091		BIDDER #4 Tapani, Inc. 1904 SE 6th PI Battle Ground, WA 98604-8300 (360) 687-1148		BIDDE Goodfellow 7515 NE Ambass Portland, OR (503) 26	Bros., LLC sador Pl. STE E 97220-1379
BID ITEM NO.	SPEC. SECTION	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
SCHEDUL	SCHEDULE D - CLARK COUNTY CLEAN WATER RETROFIT PROGRAM															
235	1-09.7	MOBILIZATION	L.S.	1	\$19,440.00	\$19,440.00	\$1,000.00	\$1,000.00	\$5,000.00	\$5,000.00	\$100.00	\$100.00	\$5,000.00	\$5,000.00	\$9,000.00	\$9,000.00
235	1-07.15	SPCC PLAN	L.S.	1	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$1,500.00	\$1,500.00	\$100.00	\$100.00	\$500.00	\$500.00	\$5,000.00	\$5,000.00
236	1-10	PROJECT TEMPORARY TRAFFIC CONTROL	L.S.	1	\$15,000.00	\$15,000.00	\$7,500.00	\$7,500.00	\$6,500.00	\$6,500.00	\$150.00	\$150.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
237	7-05	REPLACE PRECAST CONCRETE DRYWELL (Includes roadway restoration)	EACH	6	\$28,000.00	\$168,000.00	\$8,600.00	\$51,600.00	\$8,900.00	\$53,400.00	\$7,250.00	\$43,500.00	\$9,000.00	\$54,000.00	\$9,000.00	\$54,000.00
238	7-05	REPLACE PRECAST CONCRETE DRYWELL (no restoration)	EACH	2	\$15,000.00	\$30,000.00	\$6,000.00	\$12,000.00	\$6,800.00	\$13,600.00	\$5,750.00	\$11,500.00	\$11,000.00	\$22,000.00	\$8,000.00	\$16,000.00
239	8-01	EROSION CONTROL AND WATER POLLUTION PREVENTION	L.S.	1	\$2,000.00	\$2,000.00	\$250.00	\$250.00	\$1,500.00	\$1,500.00	\$150.00	\$150.00	\$1,000.00	\$1,000.00	\$10,000.00	\$10,000.00
		•	SCHEDULE I	D SUBTOTAL		\$235,440.00		\$72,850.00		\$81,500.00		\$55,500.00		\$92,500.00		\$104,000.00
		WASHINGTON STA	ATE SALES	TAX at 8.40%	_	\$19,776.96	_	\$6,119.40	_	\$6,846.00	_	\$4,662.00	_	\$7,770.00		\$8,736.00
	SCHEDULE D TO					\$255,216.96		\$78,969.40		\$88,346.00		\$60,162.00		\$100,270.00		\$112,736.00
	TOTAL B					\$18,901,406.05		\$18,473,567.22	:	\$18,959,241.44		\$20,491,157.52		\$21,213,551.66		\$24,989,211.96
	% OVER OR UNDER ENGINEERS ESTIMAT						-2.26	5%	0.319	6	8.41	%	12.	23%	32.2	1%